Algebra2  Bellwork  Monday, November 10, 2014
b+ Jb?-4ac

Solve each problem using the Quadratic Formula:  x = g

1. Give answers rounded to the nearest hundredth. 4x2 +9x -6 =0

2. Give the exact answers. x-5x+1=0

3. Give the exactanswers. xZ2—-4x-7=0

4. Give the exact answers. 3x2—-10x = 1
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Solve each problem using the Quadratic Formula:  x = r

1. Give answers rounded to the nearest hundredth. 42 +9x—-6=10
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2. Give the exact answers. x2-5x+1=0

b*-Yac = 21

3. Give the exactanswers. x> -4x-7=0
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